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1. Distinguish between discrete and

continuous variable.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NW3njM1xHvXU


Watch Video Solution

2. Find the median of first 10 multiples

variable.

Watch Video Solution

3. Standand deviation of the 6 numbers 5, 5, 5,

7, 7, 7 is

Watch Video Solution

https://dl.doubtnut.com/l/_NW3njM1xHvXU
https://dl.doubtnut.com/l/_rbHynuYdIfHn
https://dl.doubtnut.com/l/_PYPPT0ZQsxbK
https://dl.doubtnut.com/l/_q0ZXlEjjwhsO


4. Find the probability of getting a difference

of score as 3 when two perfect dice are thrown

at a time.

Watch Video Solution

5. If , 

 are the events A

and B
independent?

Watch Video Solution

P(AC ∪ Bc) =
5

6

P (A) = , P(BC) =
1

2

2

3

https://dl.doubtnut.com/l/_q0ZXlEjjwhsO
https://dl.doubtnut.com/l/_25l5jZNSpvev
https://dl.doubtnut.com/l/_3GqTuFKH9pjL


6. Can two mutually exclusive events with

positive probabilities be
 independent ? Give

reasons.

Watch Video Solution

7. A variable x takes only two values ,  with

equal frequencies. Find the mean deviation

about mean and the standard deviation.

Watch Video Solution

x1 x2

https://dl.doubtnut.com/l/_3GqTuFKH9pjL
https://dl.doubtnut.com/l/_sXWnZKJ9O1mo


8. The sum of the deviations of the values of a

variable from its ____ is zero.

Watch Video Solution

9. For four positive values  prove

that .

Watch Video Solution

x1, x2, x3, x4

AM ≥ GM

https://dl.doubtnut.com/l/_aZIaWT3Ccb0P
https://dl.doubtnut.com/l/_vRApVzITFJuY


10. Prove that Mean deviation is minimum

about its median.

Watch Video Solution

11. What are the different types of heart

sound. State their causes and significance.

Watch Video Solution

https://dl.doubtnut.com/l/_O2X2r9nxk9pG
https://dl.doubtnut.com/l/_CvrhXet7sfrq


12. If a, b, c and x, y, z are positive, then show

that 

Watch Video Solution

( + + )( + + ) ≥ 9
a

x

b

y

c

z

x

a

y

b

z

c

13. State Fermat’s theorem. Also prove that

.

Watch Video Solution

△ logf(x) = log[1 + ]
△ f(x)

f(x)

https://dl.doubtnut.com/l/_MEYXDjYVFssU
https://dl.doubtnut.com/l/_Tc9MHQSIYMdd


14. Find the polynomial function f(x) for which

it is known that f(0) = 1, f(1) = 2, f(2) = 11 and f(3)

= 34.

Watch Video Solution

15. Prove that  attains,

minimum when A = Median.

Watch Video Solution

n

∑
E1

|xi − A|
1

n

https://dl.doubtnut.com/l/_IF3FeLiB7sGU
https://dl.doubtnut.com/l/_jH7kt0Fzfdud


16. If the events  and  are independent

then show that A and B are independent.

Watch Video Solution

AC BC

17. The probabilities of solving a problem by

three students A,B,C are 3/7,3/8,and 1/3 if all of

them try independently find the probability

that the problem is not solved.

Watch Video Solution

https://dl.doubtnut.com/l/_JRRyDEKitNnn
https://dl.doubtnut.com/l/_IohvdXAElWC9
https://dl.doubtnut.com/l/_lcSCThJCgB5H


18. Suppose a variable assumes the values, 0, 1,

2,………….n with frequencies proportional to

bionomial coefficients , ,…………

respectively. Find the mean of the variable.

Watch Video Solution

nC0 nC1 nCn

19. For any frequecy distribution

Watch Video Solution

https://dl.doubtnut.com/l/_lcSCThJCgB5H
https://dl.doubtnut.com/l/_kAxMVXVQ6ztE


20. If the mean and variance of one set of

values be  and  and those of another set

be  and  respectively and each set has

values 2, then prove that the variance  of

the combined set of values is given by

 where .

Watch Video Solution

x̄1 s2
1

x̄2 s2
2

(s2)

4s2 = 2(s2
1 + s2

2) + d2 d = (x̄1 − x̄2)

21. Define imbibition State its significance.

Watch Video Solution

https://dl.doubtnut.com/l/_kHO4XLxyD1Kr
https://dl.doubtnut.com/l/_pz37sHRbNmxF


22. The elements A, B and C have atomic

numbers Z -2, Z and Z +1 respecively. Of the

three, B is an inert gas. 

Which one has the highest value of ionisation

potential?

Watch Video Solution

23. State and prove the theorem of compound

probability.

Watch Video Solution

https://dl.doubtnut.com/l/_pz37sHRbNmxF
https://dl.doubtnut.com/l/_0DxggKqpXZH2
https://dl.doubtnut.com/l/_XHSwapIg4sNx


24. The H.M of a set of values is 2. If each value

is tripled, the new H.M is equal to

A. 2

B. 3

C. 6

D. none of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_XHSwapIg4sNx
https://dl.doubtnut.com/l/_HAGeDduPKBmf


25. If the relation between two variable x and y

is  and the range of x is 5, then

the range of y is _______ .

A. 4

B. 7

C. 5

D. none of these

Answer:

Watch Video Solution

5y + 7x = 11

https://dl.doubtnut.com/l/_HAGeDduPKBmf
https://dl.doubtnut.com/l/_X3dU9P8mr1R6


26. A dinner party is to be fixed for a group of

100 persons. In this party, 50 persons do not

prefer fish,60 prefer chicken and 10 do not

prefer either chicken or fish. The number of

persons who prefer both fish and chicken is

A. attribute

B. continuous variable

C. discrete variable

D. none of these

https://dl.doubtnut.com/l/_X3dU9P8mr1R6
https://dl.doubtnut.com/l/_31KP52Pyjzv2


Answer:

Watch Video Solution

27. If var (x) = 7, then var (5 - 3x) is equal to

A. 63

B. 21

C. 68

D. none of these

Answer:

https://dl.doubtnut.com/l/_31KP52Pyjzv2
https://dl.doubtnut.com/l/_iIGSXjywLNbZ


Watch Video Solution

28. The first moment about the value 4 of a

variable is 3, then its mean is

A. 1

B. 7

C. 3

D. 4

Answer:

https://dl.doubtnut.com/l/_iIGSXjywLNbZ
https://dl.doubtnut.com/l/_QC5YXr2zm1Ub


Watch Video Solution

29. The sum of the roots of the equation

 is

A. 0

B. 1

C. 2

D. 3

Answer:

Watch Video Solution

x3 + 5x + 1 = 0

https://dl.doubtnut.com/l/_QC5YXr2zm1Ub
https://dl.doubtnut.com/l/_Nu53dF1GfYXc


30. If x is real, the minimum value of

 is

A. 6

B. 3

C. 2

D. none of these

Answer:

Watch Video Solution

x2 − 10x + 28

https://dl.doubtnut.com/l/_Nu53dF1GfYXc
https://dl.doubtnut.com/l/_dOjY5vioDeUL


31. The two digited fermat number is

A. 37

B. 7

C. 11

D. none of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_4qyvDTcd7UtB


32. A and B are two independent events such

that P(A uB) =

0.8`, then K is

A. 

B. 1

C. 

D. none of these

Answer:

Watch Video Solution

P(AC) = 0.7, P (B) = k and

5

7

2

7

https://dl.doubtnut.com/l/_RWbBGBOhA9X5


33. For two events A and B

?

A. 0

B. 1

C. 0.5

D. none of these

Answer:

Watch Video Solution

P(AC ∣ BC) + P(A ∣ BC) =

https://dl.doubtnut.com/l/_mSAMHLl1hiyu
https://dl.doubtnut.com/l/_ePVGNIFOmMJC


34. Write a short note on ‘measures of

dispersion’.

Watch Video Solution

35. Describe cross sectional data with their

utility.

Watch Video Solution

36. Define Pilot survey.

Watch Video Solution

https://dl.doubtnut.com/l/_ePVGNIFOmMJC
https://dl.doubtnut.com/l/_t5XvogxTIsm0
https://dl.doubtnut.com/l/_wI5GFEeaGUH3


37. If a value of a variable is zero, then what

will be its geometric mean.

Watch Video Solution

38. What is the main difference between raw

moments and central moments?

Watch Video Solution

https://dl.doubtnut.com/l/_wI5GFEeaGUH3
https://dl.doubtnut.com/l/_B6gJcbnTBch8
https://dl.doubtnut.com/l/_QJKIPSHC7KnG


39. Write down the empirical relation between

mean, median and mode.

Watch Video Solution

40. Let A, B, C be three arbitrary events. Find

the expressions for the
 following events at

least two events occur.

Watch Video Solution

https://dl.doubtnut.com/l/_5gn9YUzZc5VI
https://dl.doubtnut.com/l/_AwEjT4tKPMFZ


41. Give the condition when two events A and

B will be mutually independent?

Watch Video Solution

42. A,B and C are three mutually exclusive and

exhaustive events and P(A) =2P(B) =3P(C) then

find P(A)

Watch Video Solution

https://dl.doubtnut.com/l/_vXUvVxShiUrQ
https://dl.doubtnut.com/l/_WMJ1NRNHO71M


43. Describe the sample space when one coin

is tossed repeatedly till head comes.

Watch Video Solution

44. Explain the given word : 

Organism.

Watch Video Solution

https://dl.doubtnut.com/l/_AxkrQtBa4z8r
https://dl.doubtnut.com/l/_HFx0CU2eVo3h

